
SAP ABAP table OIKSD {TAS/TPI: Shipment scheduling}

OIKSD

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

DLNUMBER [CHAR (10)]

PLANT [CHAR (4)]

DLUOM [UNIT (3)]

OIGS

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]
 OIKSD-SHNUMBER = OIGS-SHNUMBER 

0..N

0..N

T000

MANDT [CLNT (3)] OIKSD-CLIENT = T000-MANDT 0..N

0..N
T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 OIKSD-PLANT = T001W-WERKS 
0..N0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 OIKSD-DLUOM = T006-MSEHI 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 OIKSD-DLNUMBER = VBUK-VBELN 

0..N

0..N


